	ВАРИАНТ 1

1.Вычислить:





в)

г)

2.Вынести множитель из-под знака        корня:

а)

б)

3.Внесите множитель под знак корня:

а) – 4x2 y 

б) a2 

4.Сократите дробь:



	ВАРИАНТ 2

1.Вычислить:





в)

г)

2.Вынести множитель из-под знака        корня:

а)

б)

3.Внесите множитель под знак корня:

а) – 3x2 y 

б) a2 
4.Сократите дробь:





	



ВАРИАНТ 3

1.Вычислить:





в)

г)

2.Вынести множитель из-под знака        корня:

а)

б)

3.Внесите множитель под знак корня:

а) – 4x2 y 

б) a2 

4.Сократите дробь:




	



ВАРИАНТ 4

1.Вычислить:





в)

г)

2.Вынести множитель из-под знака        корня:

а)

б)

3.Внесите множитель под знак корня:

а) – 3x2 y 

б) a2 
4.Сократите дробь:







